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(Section 3.4)
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HI=KJ
¢MJH = /MJK
MJ bis LZHMK.
1 HI=KJ

2 /MJH = /MJK

3 MJ=MJ

4 AMJH = AMJK

5 tHMJ = /KMJ

Given:

Prove:

6 Md bis zHMK.
Given: NR =PR
RObis £NRP.
Prove: OR bis ZNOP.
1 NR=PR

2 RO bis ZNRP
3 £NRO = £PRO

4 OR=0R

5 AONR = AOPR
6 LNOR =2POR
7 OR bis LNOP.

Given: LCFD =/EFD
FD is an alt.
Prove: FD isa median.

1 +CFD = £EFD

2 FDisan alt.

3 £FDC and £FDE are
rtss.

LFDC = +FDE
FD =FD
ACDF = AEDF
CD=ED

FD is a median.

Section 3.4

H S K
1 Given
2 Given
3 Reflexive prop
4 a5 (1 Q3D
5 CPCTC (4)

6 If a ray divides an £ into
2 = /s, it bis the £. (5)
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NR = PR
ZNRO = £PRO
OR=0R

AONR= AOPR

ZNOR= ZPOR

R bis. ZNGP
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1 Given

2 Given

3 A bis divides an £ into
2=ss (a)

4 Reflexive prop

55485 (1 34)

6 ceere (€

7 If aray divides an £ into
2=/s ithisthes. (la )
(&
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1 Given

2 Given

3 AnaltofaAformsrtss
with the side to which it
is drawn.

Rt £s are =,

Reflexive prop

asa (1 S YD)
ceere (@

W =3 O v

If a seg from the vertex of
a A divides the opp side
into 2 = segs, it is the

median. Cq—)

Given: ©O
GI=HJ

Prove: £G=/H

10600

2 OG=0H

3 GI=HJ

4 Draw OJ

5 05=0J

6 AOGJ = AOHJ

7 £4G=£H

)

G /\ H
1 Given
2 Radiiofa Oare= (O>%radii) (1)
3 Given
4 Two pts determine a seg.
5 Reflexive propL""D
6588 (3 BS)
7 CPCTC (&)

(MEd:}‘*’.:s:g\ T

SW = VW by def of a median so,

2x+30 = H5x-6

36 = 3x
12 = x ) W v
SW = 2(12)+30 WV 5(12)-6 ST = 12+40
SW =24+30 WV = 60-6 ST =52
SW = 54 WV = 54
Given: ?is a;nedian. R — Py o
MK = RK
Concel: £3 =74
1 KP is a median. 1 Given
2 RP = MP 2 A median of a A divides
one side into 2 = segs. (1)
3 MK =RK 3 Given
4 PK=PK 4 Reflexive prop
5 APRK = APMK 5838 (& 3w)
6 LPRK = /PMK s CPCTC (%)
7 £3 supp to ZPRK 7 If2 £s form a st Z, they
are supp.
8 /4 supp to £PMK 8 Same as 7
9 £3=/4 9 Supp of = /s are =.
Given: ZAEB =/DEC E
AE =DE
LA =/D
Concl: AC =BD A BE C D
1 LAEB = /DEC 1 Giveh—y¢—
2 AE =DE 2 Given
3 LtA=/D 3 Given
4 AAEB = ADEC 4 AsA ( ll"ﬂ
5 AB=CD 5 cpeTC (YY)
6 BC =BC 6 Reflexive prop
7 AC =BD 7 Addition prop



9 Given: OO0
LNOG = /POG
Concl: RO bis NRP.
100
S 2 ON = 0P
3 LNOG = ,POG

4 £1is supp to ZNOG.

5 £21s supp to LPOG,
A 8 Lle=s2
S 7 OR=0R

8 AONR = AOPR

9 £NRO = £PRO

10 RO bis ZNRP.
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4 stil = soppls

5 st D suppés
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10 2/s>bis
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